Parabola Practice: 3, 6, 9, 19, 21, 27, 29, 51- 54, 55, 57
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Determine the orientation of each parabola.

p-

51. directrix y = 4, 52. y> = —8(x — 6) opens to
p = —2 opens downward the left

53. vertex (=5, 1), 54. focus (7, 10),

focus (-5, 3) directrix x =1
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Write an equation for and graph a parabola with the given
focus F and vertex V. (Example 4) 26—=35. See margin

26.
28.
30.
32.
34.

F(=9, —7), V(=9, —4)
F(=3, —2), V(1, —2)
F(=2, —4), V(-2, —5)
F(14, —8), V(7, —8)
F(—4,9), V(=2,9)

217.
29.
31.
33.
35.

F2, —1), V(~4, —1)
F(-3,4), V(-3,2)
F(-1,4), V(7,4
F(1, 3), V(1, 6)

F(8, —3), V(8, -7)
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Write an equation for and graph a parabola with the given
focus F and vertex V. (Example 4) 26—=35. See margin
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Write an equation for each parabola.
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Write each equation in standard form. Identify the vertex,
focus, axis of symmetry, and directrix. Then graph the
parabola. (Example 3) 19=24. See Chapter 7 Answer Appendix.

15. x2 — 17 =8y + 39

17. 3x2 +72 = 72y

19. 60x — 80 = 3y + 100
21, —72 =2y% — 16y — 20x
23. x? — 18y + 12x = 126

16. y> +33=—8x—23

18, —12y + 10 = x2 — 4x + 14
20. —33 =x2— 12y — 6x

22, y? +21 = —20x — 6y — 68
24. —34 =2x? +20x + 8y
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Write each equation in standard form. Identify the vertex,
focus, axis of symmetry, and directrix. Then graph the
parabola. (Example 3) 19=24. See Chapter 7 Answer Appendix.
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For each equation, identify the vertex, focus, axis of
etry, and directrix. Then graph the parabola.

S

(Example 1)
1.

3
5
7
9

(x—3)2=12(y - 7)

. (Y —4)%=20(x +2)
. (x+8)*=8(y—3)

. (y+5)%=24(x—-1)
. —4(y +2) = (x + 8)?

1-10. See Chapter 7 Answer Appendix.
2,
4.
6.
8.

10.

(x+1)2=—12(y — 6)
—1(x +7) = (y + 5)*
—40(x + 4) = (y — 9)?
2(y + 12) = (x — 6)?
10(x + 11) = (y + 3)?
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For each equation, identify the vertex, focus, axis of
etry, and directrix. Then graph the parabola.
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